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1 A RHIG PR 22 ) 422 2%k xkkkkkk4k 004X 85.8 1 =
2 P A PR 22 I 420 Iekekskekesteioiekk (001 2 84. 6 2 =
3 P I PR 22 I 422 2% kkkketeiekkk (0838 84. 4 3 =
4 N RHIE PR B 422 2kxkdkkkk40820 84. 4 3 =
5 N RHIR A 22 I 422 3%kkdkkk4k% 1010 84.2 5 =
6 P R R I Ui 422 2skksook k0042 84. 2 5 &
7 P b R I Ui 4209skskksolosioksk | 783 84.1 7 &
8 PRI AR [ i 4209kksckotkokkok 6732 84 8 e
9 PRI R 2 i 4290kksckotkkk 81 62 84 8 &
10 N BHIR PR = I 3T08kkxdkkokx 42026 83.8 10 =
11 N BHIG PR = I 622 Tkxdkokokxk%0024 83.8 10 =
12 N RHIE R = M 4209kkkkkkk k%2322 83.6 12 =
13 N BHIE PR = M 4209kkkkkkx %4229 83.6 12 =
14 N RHIE R = M 4209kkkkxxx4%500X 83.6 12 =
15 N RHIE R = M 4209kkkkkxx%%0036 83.6 12 &
16 PRI PR 2= i 420ktstopaiokok 3054 83. 4 16 2
17 N BHIE R = M 421 2%kkkkkkk k%5712 83. 4 16 &
18 N BHIf PR B M 4209*kkskkkkkk431 5 83.2 18 =
19 N BHIR PR 5= M 421 Jkxdokkkrdokk 1325 83.2 18 =
20 N BHIR PR = I 4209kk4kskkkkkk4 392 83.2 18 =
21 N BHIR PR = M 4209*k4kskkk4kk5623 83.2 18 =
22 N BHIR PR = I 4209skkkkkokk k%263 1 83 22 =
23 N BHIR PR = I 4290k x4kkkkk4k 367X 82.8 23 =
24 N RHIE R = M 4290%kkkkkk k% %4825 82.8 23 =
25 N BHIE PR = M 4209kkkkkkx k%4725 82.6 25 =
26 A RHIG PR 2 4209ksxkkkokkkAk 562X 82.6 25 =
27 W RHIE R =M 4209%kkkkkxx%%9016 82. 4 27 &
28 N RHIE R = M 421 Ikkkkkkx k%4078 82.2 28 =
29 N RHIE R = M 4209kkkkkkk k%3312 82.2 28 =
30 N BHIf PR = I 411 5ksxksokokkkkk4 736 82. 2 28 =
31 N BHIR PR = I 4228 xAkkkkAk%k 3125 82. 2 28 =
32 N BHIf PR = I 4209skkkkskokkk %5724 82 32 =
33 N BHIR PR = M 4222k kkk4%7 340 82 32 =
34 N RBHI R 122 I 4209ksktctkotokok k4649 81.8 34 &
35 N RBHI R 122 I 422 2%kAkktkotokokk | 889 81.6 35 &




36 PRI PR 22 )i 420 3kkkptokkkok 3125 81.4 36 =
37 PRI PR 22 )i 4209k ko kkk491 | 81.4 36 =
38 P A PR 22 I 4209skkcksketekoiokk 1 027 81.2 38 &
39 N RBHI R 122 I 4209tk k61 23 81.2 38 &
40 N RBHI R 122 I 4209kskatskdoskokk5 738 81.2 38 &
41 A Al A 2 i 420 sskskskickorkk 6030 81 41 5
42 A A A (2 i 4209 skkrtkokkk 2435 81 41 5
43 PRI R 122 I 421 2kdsktsordokork5 51 3 80. 8 43 &
44 N RBHI R 122 I 4208kskktkotokekk 5000 80. 8 43 &
45 PRI PR 22 )i 4209kkptoktok 4 22X 80. 6 45 =
46 PRI PR 22 )i 4209kl k 3264 80. 6 45 =
47 PRI PR 22 )i 4209kkioksokk 3949 80. 4 47 =
48 PRI PR 22 )i 4209k k0k43: 0065 80. 4 47 =
49 PRI PR 22 )i 4209k ok kR 4683 80. 4 47 =
50 PR ARl PR [ i 4222k KHk k%6424 80 50 H
51 A A A (2 i 422 2%skskkskckokokk (04 2.2 80 50 5
52 N RBHI R 122 I 4209kskatskdoskosk5 322 79.8 52 &
53 N ABHI R 122 I 4209ksktsekdokotsk 1 285 79.8 52 &
54 N RHI R 122 I 232 3sktstkedolekotok k291 8 79.6 54 &
55 N RBHI R 122 I 421 Skdskatsordokosk4 715 79. 4 55 &
56 N RHI R 122 I 4209ksktskdskokk 6822 79. 4 55 &
57 E 7R el 4209sksklktoteiciokok 3466 79 57 ES
58 N BRI PR 2= I 4209k kk4k% 2626 78.6 58 &
59 N RHIE R B 422 2%kxk4kkkx4%0040 78.4 59 5
60 N BRI PR 2= I 42224k kAkkk4k% T 726 78.2 &
61 PRI PR = )i 421 Ixxxxrkrrxx (42X e =
62 PRI PR = )i 4209%kxxxx%%%%81 20 e =
63 PRI PR = )i 421 3xkkkkkkkkk 3333 E =
64 PRI PR = )i 4209k kkkkkkkk% 7826 E =
65 PRI PR = )i 4203k kkckckckckokokk 2822 - =
66 PRI PR = )i 411 5%kkkkkkcrrk [ 426 - =
67 PRI PR = )i 140 Ltttk 4 733 E =
68 PRI PR = )i 421 3xkkkkrkrrk8115 E =
69 PRI PR = )i 422 3xxxxxxk%%%(0022 Eid =
70 PRI PR = )i 362 5%kkkkdkdkkkk(0939 Ein =
71 AR PR 2= M 421 Issetoletotorsiorok65 1X 86.9 1 B
72 ANRHIG PR 22 I 6228skikototokskok 1 012 86. 8 2 P
73 AR PR 22 )T 42063tttk 5524 86. 2 3 Py
74 AR PR 22 )T 422 2sxskk0icokkk 087 7 86. 2 3 Py
75 AR PR )i 4209skskkstsisorsiokk551 8 86. 1 5 =
76 HPEHlm PR i 4209tttk 601X 86 6 2
77 AR PR )i 4228tttk 4010 85. 6 7 =
78 AR PR )i 4209kskkstsistorsiokk 2038 85. 6 7 =




79 ARG PR 2 T 4209kktstoleteiokok 5894 85. 2 9 i
80 AR PR & T 421 Osskpstioopsiolok 3 298 85. 2 10 7=
81 ARG PR =M 4209tttk 1 055 85. 2 11 =
82 ARHIE R I 4222%sksekktekekokok0013 85. 1 12 =
83 AMRHIE R I 4290skskskotteosiokok 0692 84.6 13 =
84 ARHIE R I 4290kskslotteoskokok 7297 84.6 14 =
85 ARHIE R I 4209tttk 3938 84.6 15 =
86 ARHIE R I 4222 ksskkteokekokokk811 1 84. 4 16 =
87 AR R 4209tttk 06 14 84. 4 16 =
88 AR AR (2 I 4209skkkekekskekeokok 3215 84. 2 18 5
89 AN AR [ )i 422 2skkkekekskokokok 731 2 84. 2 18 5
90 AR AR [ I 4208tttk 551 4 83.4 20 5
91 AN AR [ I 421 2stteteretiereokok 7712 82.6 21 5
92 AR AR [2 )i 42063%kkkkskskckokok 2537 82.4 22 5
93 AN AR [ I 6529 kkskeksikokokok 281 3 82. 2 23 5
94 AR AR B )i 371 Jstersottoriokk 0027 82.2 23 5
95 ARG PR BE i 421 Osksotsietotorsiokk481 3 81 25 5
96 ARG R 2 )i 4209kskksicotoksickok 5759 81 25 5
97 AR A B )i 422 2s5kkskkooickok6 130 80. 8 27 5
98 AR AR i 4209kskksicktorsiokok64 1 7 80. 8 27 5
99 AR A i 4203keksictokeeickok0099 80. 4 29 5
100 AN AR [ I 4209skskttekekeksikek 505 1 80. 2 30 5
101 AN AR [ I 4209sktkeksksiesieokok 3037 80 31 5
102 AR AR (2 I 4209ssktkeksksikeokok6252 79. 4 32 5
103 ANBHIG PR B2 220 2skkstsoletetkokk 08 1 X 78. 8 33 5
104 AR AR [ )i 422 2skkkkekskokokok 041 8 78. 2 34 5
105 AN AR [ I 4209skskktekerskokokeok 461 4 76. 8 35 5
106 AR AR B )i 422 2s%kkskkkekeickok00 10 73.4 36 5
107 AMRHIE R I 4209kkkkkk4kx 3612 RE 3
108 ARHIE R I 152 Ttk k0823 RE 3
109 ANRHIf PR 2 )ifi 420 kssksioknik 1117 Pk 75
110 J LA PR 2 )i 421 0sttokpoiokior 341 5 86. 2 1 2
111 JURHIE R = 422 2sksskkteokekskokok 7324 85.6 2 =
112 JUEHE R 2= 422 2kxAdkskorAodok 771X 85. 2 3 =
113 J LRI PR &M 4290kscklotosickok 3328 85 4 B
114 JUEHEE R 2= 4209kkdckskokkAokk 4828 83.9 5 =
115 JUEHKE R 2= 4209kkckskskkAkKG 725 82.7 6 =
116 LRI AR [ )i 421 Sstekterctoteiokk 36 10 82.6 7 S
117 LRI AR 2 )i 4209skctortotorkok 4485 82. 2 8 S
118 JUAHIE R B= I 4209skskttckoksttokok 6724 81.4 9 5
119 JUARHIE R B= I 4228stkkekskokok 5502 80. 4 10 5
120 JUARHIE R BE I 4206358k kkkk3k01 02 80. 2 11 5
121 JUAHIE R B= M 4209skttckokstkokok 267 4 79. 2 12 5




122 J LB PRI i 4209k 0692 Fined i
123 J LK PRI i 42036624 Fined i
124 U7 I R T 422 24kk4%81 70 88 1 =
125 TR R I 4209sketsctortorior 1023 86. 8 2 e
126 TR R I 4209sketsctororkek0023 84.9 3 e
127 TR R I 232 Lstotkotiotookk 1826 84.9 3 e
128 P21 R I 421 Isksssokkkk 6039 84. 8 5 &
129 P21 R B I 420Qskskksoosok k2343 84. 8 5 &
130 TR R I 4208skeksctororiok 3083 84. 5 7 e
131 TP I PR 22 )i 4209k ktokkk 6445 84. 4 8 5
132 7 I PR 122 4209k k4949 83.7 9 i
133 P77 I R [ Ui 4290kkktokstokk 7424 82.8 10 =
134 77 I PRI i 42224kt T324 82 11 &
135 7 I PR 122 4209tk pkkiok5 145 81.7 12 5
136 7 I PR 122 4209kt k%2669 81.5 13 H
137 177 I R I U 4209kttt 1 287 81 14 i
138 A2 I R E I 4210k k%6332 80. 3 15 75
139 A2 I R I 4209kkkk x5 %5%% 3066 78.4 16 75
140 177 I R I U 4206kstkonkok 1287 78 17 i
141 177 I R I U 4206%sHkpkkk k6321 77 18 i
142 A2 I R I 4228 %k kKK kK x%%3524 76. 6 19 75
143 = I PRI )i 420 1sttoricitons0024 74 20 &
144 7 s PR 122 4209kksokpkkiok 3427 72.6 21 5
U5 | EPRREIT | sd0pmeeeeedsil | 7% )
146 TR I 430 koksoiorkk501X 83. 8 1 &
147 gl 4209kkskpk k301X 82.2 2 i
148 BT 42063%kkkkskskckokok 6835 78.6 3 5
149 [ 22 B A% 15 W B T 4209k 1 464 87. 1 1 &
150 [ 24545 14 W 1 421 Dkskssokkxk k063 1 87 2 &
151 [ 22 B A% 15 W B T 421 Tkskkoksokskk 2433 85.8 3 &
152 [ 24 545 14 W 1 4222k kkxKKK%%%0820 83 4 &
153 [ 24 545 14 W 1 4209kkkkkkxkK 34T 5 83 4 &
154 [ 22 B A% 15 W B T 4209k kx kKK 882X 82.8 6 &
155 [ 27545 14 T 1 i 4209kkskpkkiok 344X 82.4 7 &
156 [ 275 A5 14 T 1 )i 4209kkikk k002 1 81.8 8 &
157 BEAAR TR | 4209kkkmkikk] 785 81.2 9 &
158 [ 27545 15 T 1 )i 4222k KHk k%% 5929 79.4 10 i
159 - B M 1 A (22 Ui 4209k ktokkkk 561 7 87. 4 1 &
160 | FEAWAMEIREENT | 4209esmmoos002X 85 2 i
161 £ TR W s S 2 O 421 Otttk 2013 84.8 3 75
162 2 R 1 A 2 Ui 4206skkictctorkk 6746 84. 4 4 75
163 s 11 S 2 Ui 4209seketsictoctorkk(1 06 86. 6 1 e
164 s 11 S 2 Ui 4209skeksctcokk622 1 85. 2 2 e




165 S I PR 1= 45023 kkkkkkk40310 84. 8 3 =
166 S I PR 1= i 4209skskkdkskokk4k004 1 83.4 4 =
167 R I PR 2= ) 422 2%k x 4k kk4k% (0449 82 &
168 s I A 122 i 42093kk kx4 k8685 FE &5
169 JirJeg i R 122 i 4209kskkstokkokkoAk 2856 87 1 72
170 JioJeg i R 122 i 42093kkdokkokdokxk51 33 86. 2 2 =
171 R gBa 11 AR 22 i 422 2% Aktctkotokokk 7824 85.2 2 &
172 R B 11 AR 22 i 421 Oktsatsradokotsk 6627 83.8 4 &
173 R B 11 AR 22 i 4209kskstkatokokk 2 34X 83.6 5 &
174 FiJeg i R 122 Ui 411 5%kkkkokkdok k4028 83.6 5 &
175 iR I PR 22 i 4209kkstkskedokskok 7742 83.6 5 &
176 R 1 PR 122 i 4209kkstkskdok k4423 82.6 5 &
177 R I PR 22 i 4209kkskctktokk k5586 81.4 9 &
178 iR 1 PR 22 i 4209kskskctokstokokk 1 381 81.4 9 &
179 Jie g I R 2= i 4206tk 005X e =
180 Jie g I AR 2= i 4222tk 644 1 - =
181 6 3612 Wi =M 4222kt kGR2X 36 1 H
182 R er 12 Wr = il 4209sksksorsorsk 0023 85. 8 2 B
183 o B2 W = 4228sttckoksekkok(0048 84.7 3 2
184 ForBeni2 W = 4209skkkkkkkk 5,680 83.6 4 2
185 Ko 56212 W = i 4209sksciiotetiokek 2860 83. 4 5 I
186 For 5612 W 2 4209tttk 2634 82.8 6 B2
187 A6 5612 W = i 4209kskkstsoletsiokok5 129 82. 2 7 7
188 Far 4612 Wi = )i 421 Swsctorsiotonskok 6432 81.8 8 7
189 For 4612 Wi = i 4209ksckotsiotonsiok 2825 81.8 8 AR
190 For 412 Wi = i 422 2skskokcionokk 6823 81.8 8 AR
191 Far 412 Wi = )i 4222tttk T340 80.9 11 AR
192 For B2 W = 421 Jttctopetorokok 2847 80. 6 12 5
193 For B2 W = 4209sktkokotsokokok 2448 80. 6 12 5
194 Fo 56212 W = i 411 3ssksototteorsirok ] 545 80. 1 14 7
195 R 582 Wi = )i 4209tttk k8229 79 15 &
196 For B2 W = 412 Ttctopekokokok 1027 78.6 16 5
197 o B2 W = 4209sktkokoksokokok(01 83 78.2 17 5
198 For g 12 i 2 i 3704kkpkopkokiok (0029 £ &
199 R IR PR 122 i 4209kkdkkkkok x4 464 88.2 1 =
200 JZ R PR 12 )i 421 2k 0087 85.9 2 P
201 R ARG PR IZE T 4209tttk 1 743 85. 8 3 5
202 R ARG PR IZE T 4209tttk 802 1 83.2 4 5
203 F Al R = i 422 3kwtckptor ik 5823 HH %
204 JER I PR = 4209kskskokiokkokok 5625 88 1 =
205 TR I RS 122 U 4209kkkskak4k k6027 87 2 &
206 JER I PR =0T 422255588444k 596 X 86. 8 3 2
207 JER I PR = U 42063558tk ok 2745 85.8 4 2




208 JPRIEIN R 12 M 42224k kkkkx k%0028 85.6 5 &
209 PRI R 2= M 420941900 84. 6 6 &
210 PRI R 2= M 41 10%skkkrkkk%0516 84. 6 6 &
211 TR 1 B[22 Ui 422 2xxkk35%x5%3%0000 83.2 8 &
219 TR I G [22 Ui 4209k %k xx%%%(087 5 82.8 9 =
213 JRR I I AR 2 i 422 3keksrtolkokeickok 3796 i =
214 JRR I I AR 2 Ui 421 Dskoksietotorsiokk 381 7 L =
215 2 PR T 420Qkskkskookok k5983 87. 2 1 &
216 2 PR T 4208kkksksokkkk 5536 87. 2 1 &
217 AR R EE T 4115%xxxxxx%%%005 1 86. 6 3 &
218 22k R E T 421 3tttk 3264 85. 4 4 &
219 ALK E IR 421 Qsttetereteieiekok 3925 84.8 5 &
220 AR R EE T 42224 kkkxx4k4%081 X 84. 4 6 &
221 22k R E T 4209tttk 4958 82. 4 7 &
222 | EJEBRFRHGIREENN | 420908118 87.2 1 e
223 | ESEEFRHRREN | 4209%kekokokek6290 83.4 2 &
224 | EUERRFRHmIKEENN | 421 0kkckomioriorx403X FH i
225 FRELE ERHmIRIEIT | 4222%kicticiorkok0820 FH i
226 TRl PR B I 4290%kkkkkkxx %0368 87.6 1 &
227 JREGRII PR B2 I 4209kskekskokotskok 7242 87.5 2 P
298 R LIl PR 1 i 4292 kkkokkkkok 7326 86. 8 3 =
229 YL PR = T 4209ksktckokstotokok | 282 86. 4 4 i
230 YL PR = T 4209ksktckokatotokk 3223 84. 6 5 &
231 SRR R 25 i 421 2kickioiorior 3598 b i
232 25 4209ksktstsoletstokor5 1 34 86. 4 1 pA
233 25 422 2sskkstskotorsiokk 0817 86. 2 2 pA
234 25 4209ksktsiktorsiokok 0635 85. 8 3 pA
235 2450 420Pkkrokkkk 3975 85.5 4 &
236 2 420Pkkktokkrok8220 85. 2 5 &
237 24 420Pkkrtokkoriok 7336 84.6 6 &
238 245 4206kkks0kkkkk 4024 83.6 7 &
239 2 420Pkkrtokkriokd619 83.6 7 &
240 2 420kkrokkoriok 7021 82. 8 9 &
241 2T 422 2skssoksokokokok 1 318 81.4 10 &
242 250 4209skpstisoniork 206X 77.2 11 =
243 250 4209tttk 1 24 77 12 E
244 250 612 Tsokopoioriok k0324 76. 1 13 E
245 Eshil 420 seksteteekeiekekok662 1 75.2 14 i
246 i 431 Itk (0333 HE 7
247 24 )fi 4222k xk KKKk k%% 2456 FE =
248 245 Ifi 430 Txsskkkkkkk6138 HE =
249 25 Ifi 431 2sskskskskokokk k%0627 HE 5
250 245 Ifi 4209ksxkskkkkk4% 2340 ok =
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